NAME: ... 200ubanS oo, Georgia Tech, Fall 2015
Math 2552 (Sections F1 — F'4)

Quiz 2

1. [5 points| Determine whether or not the equation below is exact. If so, solve it:
(2a:y — sina:) dz + (a:2 + cos y) dy = 0.

2. [5 points] Solve the equation:

d 1—e2=
ﬁ-l_y: e® e "
(L) 2 =2x o \ o
2 ¢ § @ Limean, 1° ondew ODE @-lv&zﬂ:‘h
'@l{l .exﬁenkne:s => whe Mizq\nh‘v\;{za,dm ,2? end.int.
w2 -
| PO =4 -idenkfy p wfmd'y
;; The eiuahbm 14 .Q)k - inkerk to S \)[x)dx =X
md Fmtemhal; & ';ﬁmu (o0dx |
gj} = 2K — X R pxi=e ) !J2.pt.
&G fiix,y)=xlj +eoSX +9(y) pix) =e @
Mup) )
) =>’_a§-_:xz+3,9)) p‘y‘ogpx)x N
j 2 i(yex = e -_._.e Ifz‘ﬂ.
=X+ s Y X r .
/
=>9(y) = o3y o Dot o
e'= == = R =
»gy)=emy Joh | S e e
—Coys X . -
P = oy e iy ) oty [y S e @) i
ubond




NAME: .. JolwhonS..

Quiz 2

Georgia Tech, Fall 2015
Math 2552 (Sections L1 — L4)

1. [5 points] Determine whether or not the equation below is exact. If so, solve it:

(cosz —sinz +3?) dz + 2zy dy = 0.

2. [5 points| Solve the equation:

1+ ez”")j—z +e¥y =0.
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